B 61EE Eiamaisk 1* YE iﬁil' ]:§
TECHNOLOGY CREATE WEIHAI | R
WISDOW WIN FUTURE

M2 K canada Lo

i % North America {ﬁg‘lgﬁ ?USSia F—L nnn E >jq< :B

B o PRODUCT CATALOG

F»"—T % South America

Fﬁ-:”E South Africa

S

5@7(/75’].‘117 Australia -

Sooooa

HBHEERR
FEREISIR, BT RENER. €. EERSUR, BHEE2004, HEEINSREFREEF.

EHMRED
mE. ®E. X8, MEX, GSH, RAFIL, IRAT. HE. Ued. #E. BAX, DE. EREE, tEH, FBF,

i
il
o
v
o
0
o
e
d
il

Soo

= o fhiRERERIZBIRA S

QINGDAO WEIHAI METAL TECHNOLOGY CO.LTD

#uft: IARESBE MR BXEMAK26885
R L 400-613-7555

Address: No.2688 Haixi Road, Huangdao District, Qingdao, Shandong
Number: 400-613-7555 e Flower Cart e Tool Shelf e Caster Wheel




Yeas @

) AN 2
iﬁ4 ol
‘H:"‘—_ Y I
JI\ 71\
TECHNOLOGY CREATE
THE FUTURE

[}
ITE. .
u

| N
LR LR

BEEEHRURAAZL, UmENES, RECIHA, £AFE. &R,
HZHhEARE. BEFERL, JEL, B, RABENRREDN
IANEFRM, FERALA. £ZENSET, L7 B —HAUNEER
I, BFEEKRREKESEXFENRES,

Weihai Technology takes technology as the core, quality as the life, and
constantly innovates and develops in many aspects, such as flower car,
shelf and caster. Make the production intelligent, data-based, scientific
and technological, and become the strength production base of
intelligent logistics equipment. Under the call of national development
and sharing, implement the integrated operation mode of manufacturers,
and build a large platform for global brand strategic partners.



L5 0ME S EiER
TECHNOLOGY CREATE WEIHAI, WISDOW WIN FUTURE ! RIS BERAR

Chairman Message

FHKEHE
Jtb
- EREPERAESEK
Group Profile | | |
Chairman of Qingdao Jiandun Group
BT
SREHERER, EERTERBERMEEN, REAIHEE, MESIAES . . _
BN, SEEXNBEER, SHASRETESH, HOBE! URHR BB AR VR AR RBR,

ot = & : S T 2 — A R AT 1
AEMETAL: SSRNERATRERAD. sORNEATRARAT. 55 BERARFACUNERRTE, ENTEH—RHEAERL,

EHEAMBERMERAE. SRFEERNEERAE. EHEEK~EHEIIR Taking science and technology as the development goal of the enterprise.
»~El. ERFEENSGSZERLE. SREEEMERLAIEZFRI, Smart manufacturing wins the future as the development direction of the enterprise.Strength to build a new
generation of caster leading enterprises.

BRIED

RNV B FRIER RN B FRIES ZREFVFOJIE

MELE SRHER

Strive for peace
Win win cooperation and competition




TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! R tlFEE SERmAXK

CONTENTS
SR

WISDOM CREATES POWER

EiE1HE  INTELLIGENT MADE 02
° XTHS 02 ° HIEXA 03
BNAGRTUERARRE, ARRGIFEANTENA,
. - - U ° MESE% 08 o BRHR 10
RENEPREESEHNHNETRBRAEE,
We have opened up the intelligent development of the industry , Firmly injected
new impetus into scientific and technological innovation, o
FFI7=f KEY PRODUCTS 12
Commitment to provide customers with reliable caster product solutions.
° HEFE 12 o &|E 18
o i
BRZRT 26 th R K5 36
SHREFRY 56 MR 60
B%781% Business Negotiation 63

jiandunjituan.com | O1




About Weihal

- _'}‘_ N1 ERSHEAEW
9€ 1EE / National High-Tech Enterprise

SHEEERBKARAE, MIALT2015F, RERERKFNSHEARN, TWNERRE, &
R, WREREFENEFSHO, AE=1+20ra, tRMEREF, T016FRRKEHREE
"BEL" I RE—FR, HEERHEEN ., EHAFFREHERESE, SENHHOHR
80% ,

AE H32000 T KFBEERNRLEFT X210, AEPEREHNBFHTEER, SRKREW
A%, NE@FR, RRERHHELN —EEXENRZIZARR. FzAMRNIRIRE, T#HHO
WHFR, BHENRESEEARR, AEF LRI RIRME T T ENRIE,

BRBEIRIAK, ABAEEIH, FAEHHA, S8HEHE, RA—1E, THAS, ARTREREETER
IR, TR "URERER, UEEREKR" NER, RE KEFPNEMSEF.

RERelfEE, SERRXK.

. PHx el BiEmAK
Intelligence Power

HEES

Automatic Forming Equipment of Flower Cart Post

EHAELEBHREIRE

FERBREAELEENNERERA—EHERENNEKE, KRESBEPRENMEN, TREERPASME
IZ, £FRXESY, PAERE, AATBETAIRSTZ2H.

Weihai Technology Flower cart post automatic forming equipment uses a set of numerical control hydraulic cutting
device, with high precision punch gantry forming machine, complete all punching and forming process, more efficient
production efficiency, more stable punching, greatly saving labor, improving safety.

jiandunjituan.com | 03



TECHNOLOGY CREATE WEIHAI, WISDOW WIN FUTURE !

Imported Manipulator - High Precision Tooling

HONAE-SHETE

FERBZEAEXAREONMFEGSBEEIR, 2EHMRE, RARIETFRGEE, REISH—EHIFIT,

Weihai Technology flower cart adopts imported manipulator with high precision tooling and automatic welding, which
greatly ensures the product quality and has been praised by foreign customers.

04 | 400-613-7555

Injection Workshop

= -]

Ba{tEia

R BRNETEE, RASENPREMRE, SENMFRE,
REHRE, BT2E;MEER.

ZEBXRBHIECERERR, BEFIRBETAREL, SuEK, &
Befl, BHIETEE! WEBATLEREI7%, FEMRURFE25%, 88
FE30%!

Caster single wheel production workshop, using automatic central
feeding system, the whole process of mechanical hand pick-up,

conveyor belt transmission, belongs to the fully automated workshop.

The workshop adopts the data-based program control system, which
transforms the production process into process, data and intelligence,
and transforms the manufacturing into intelligent manufacturing!
This workshop reduces labor consumption by 37%, raw material
consumption by 25%, and energy consumption by 30%!

M tlfsiE BERARK

jiandunjituan.com | 05



TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! R tlFEE SERmAXK

Stamping Workshop Pouring Workshop

PEZEE Rt E

M AEXREFTEE, RAREMKRSENERS, £ s, WEREEPRNETER, WEBDERTIE
EKRIBERT, BEFTZ, BT ARNBE CERS, REARFEER
AN, XBFEATLNETARX, 2EEREETSEA g, BRIET30%MERE,

W, FRSERBTEENE, ILhEEFNEES, £ FEXANNSEERS, ILEMEMELEIIRE, BE
BEIRE21%, R2MRA75%! TEFE60%, BMBERLZET%, 125 7 35%H 788!

Assembly Workshop

B

AR mEVARERE, FIAXRYE, BIRRMEASIEATHIMESN,
BEAL20%, RATFREERE, BRSXRNEAR, WEERE
BATHWMBESINE, XFERTUNATISCTELZES, WIRLE2
FHRGRN, REL. BECEEES,

T—SRETENERLNREIZHE, MEENEHNEETS™
MAESHNRSE, BSERENATHERBRRBMNL, ML, S8
£, IALTIWEDTEHUTAKEEH,

06 | 400-613-7555 jiandunjituan.com | Q7



TECHNOLOGY CREATE WEIHAI, WISDOW WIN FUTURE !

MES Management System
MESEIE R %

)0-613-7555

M tlfsiE BERARR

MESH BN EB RS

SHABABMUHLS: FRE (BHIRE. REER. 2RENR
£EF)

BHEMRSERES, BHANTKEHIREBEXR, HEHUEETN.

HAORE, BEXRE, REEFRE,

MES DATA MANAGEMENT SYSTEM

Daily business: data monitoring (parameter setting, status display,
quality control of the whole process, etc.)

It can automatically generate alarm information, automatically
analyze the logical relationship of bill data, and give credibility
evaluation.

Reduce the loss, reduce the risk and improve the production
efficiency.



Technology R&D
AR A

BAREZLD, mEREW!

- HEWE: BRR 6 R - IKEITE: BIMFRRD 10 AXK, BR 4 2B/
P P — p—— srmnE  BUEEee - ELE: BIR 1750 KGR EHEAN - RIEMEE: B0 m, EERE 1SR, THEEFER
EﬁEIL /\JJ:\I ‘ﬁ _‘l%_l JJ:\/-\L ﬁ% E R RR E R /D\\I if . = B I_\\ NI (B S I_\ . N Y —WAN = /N a4 eSS N m A
e (A S NEES NESES ARGEER E E: #RFERENRSAR i3] %.i;zzzég|mﬁmé%§@T,*ﬁﬂ%Eﬁ
ZMRT#E

HERRERIED PEAFREAR
- @ BSipsi () DIN
EE TR EETRE BHAT AR hETRE RET AR

F-NMEFARRE, S—EIRBE!

FER RN MR ERRIEERMEE (BATROE, RERE. EERE. BERE)
MERWRIRE (FEGBIRE) HITHESMENIR,

BAEHNLIRFEL SRNAAHRTRN, TE2FEMEULNER,
FrlA, AABHAENEURE, FEEREXK,

10 | 400-613-7555 jlandunjituan.com | 11



TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! A tHEE SERRX

INTELLIGENT POWER {7 %E FLOWER CART
BTN

EhE
FLOWER CART

#4E4R WHEELBASE 1% CASTER

oo oco aa —

SO0 oo oo

%@V

FaiER (B4 mm)

DGDGD‘-DDQGDGD

BEARRYT 1350*565 \ 715 *565 \ 675 *565 | 810*6 10 | 1430*565 \ 1892 *565

TIiEM R Plywood | Plastic | Mesh Wire | Pre-galvanized plate | PVC | Aluminium Plate | Expanded Mesh

RELE Cold Galvanized \ Hot Dipped Galvanized \ Powder Coating

ik

12 | 400-613-7555 jiandunjituan.com | 13




TECHNOLOGY CREATE WEIHAI, WISDOW WIN FUTURE !

£ %E FLOWER CART SHELF #&HE FLOWER CART

BiRFIZES|I RS SHELF & PART

00

Shelf MP1.8mm Shelf RO1.2mm

F@iER (B4 mm) FmiER (B4 mm)

R 1350*565 \ 715 *565 \ 675 *565 | 810*6 10 | 1430%565 \ 1892 *565 R 1350*565 \ 715 *565 \ 675 *565 | 810*6 10 | 1430%565 \ 1892 *565

IR R Plywood | Plastic | Mesh Wire | Pre-galvanized plate | PVC | Aluminium Plate | Expanded Mesh TlER R Plywood | Plastic | Mesh Wire | Pre-galvanized plate | PVC | Aluminium Plate | Expanded Mesh

RELE Cold Galvanized Hot Dipped Galvanized Powder Coating RELE Cold Galvanized Hot Dipped Galvanized Powder Coating

Mz ho
?;’:g 500mm 700mm % 5"PP Nylon TPR

14 | 400-613-7555 jilandunjituan.com | 15



TECHNOLOGY CREATE WEIHAI, WISDOW WIN FUTURE !

IBEAE MAESTRO CONTAINER

§

=173

#

% MAESTRO SHELF

FE{RHF POST & EXTENSION

FE{ER 44 EXTESION

F@iER (B4 mm)

1310* 1020* 1900mm

34.4kg

Hot Zinc (Steel /Aluminium)

HD Rubber Wheels
& Pulling Kit
& Barcode ttchment Mounting

600kg, Max

16 | 400-613-7555

FRiER (BA:

mm)

1270* 1010mm

Full Aluminum

6mm hook aluminum

200kg max

7.2kg

Extension Information(unit:mm)

Size 390mm \ 660mm
Thickness 0.8 \ 1.0 \ 1.2
Material Galvanize steel
F@miER (Bf: mm)
1950mm \ 1800mm \ 1775mm \ 1650mm \ 1150mm \ 770mm
Cold Galvanized Hot Dipped Galvanized Powder Coating
1.8 2 2.5 3

jilandunjituan.com | 17



TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! A tlfHEE HERAKRX

INTELLIGENT POWER
BN

o

= HEAVY DUTY SHELF T21A

&
A

MR~} Dimensions(Unit:mm)

4+ o
o N

SHELF

I

P
SISI=SI=I=I=1=1=1=]=)

IS ==Y Yo Yo o Y o J o J o e e e J e f e Jf e Y e e e Y s Y s Y e e e Y s Y s Y e e e Y s Y s e e e Y s Y e e s Y e Y s Y o e s Y s Y s Y e Y e Y s Y |

[l =] e] )] w) )]
[S====1=1=1=)

/

je=]emY el es) e}

IS

/

DDDDDDDDDDDXDDDDDDDDD bPooooooooo

[ Yo Yo Yoo Yoo Yoo Y as V)

|

[T =Y =Y =YY oY ey ey ey el el Y Y Y e Y e Y oY e Y e Y e Y e Y Y Y Y Y Y e Y e Y e Y e Y e Y e Y e Y e Y e Y e Y e Y e Y e Y e Y e Y e Y e Y e Y e W e W e W

F@fiER (B4 mm)

je=Yen]wm}
[===1=1=1=)

Product Information(unit:mm)

Model \ T21A Middle support 2 pcs per layer

Matercial \ Galvanized steel sheet Metal Thickness 1.2mm

\

Height 1800mm MDF 6.8mm

Length 1200mm Edge Curled or straight
width \ 450mm Finish Galvanized or painting
Clapboard Matercial | MDF Packing 1 pcs / carton

Layer \ 4 layer or 5 layer Net Weight 29kg-32kg

toad capaCity 205KG per layer _

18 | 400-613-7555 jilandunjituan.com | 19




TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! R tlE

8252 TOOL SHELF T20A TOOL SHELF T40

I Dimensions(Unit:mm) I Dimensions(Unit:mm)

: | F |5 : 1 F | 5
= - - - |8 - - - - |8
Z Z Z 23 Z Z Z 2l |3
- - - = 3 - - - o 13
900mm ‘ ‘ 450mm 900mm ‘ ‘ 400mm ‘
F&ER (B4: mm) FaiER (24: mm)

Product Information(unit:mm) Product Information(unit:mm)

Model | T20A Middle support \ without Model | T40 Middle support \ 1 pcs per layer

Matercial \ Galvanized steel sheet Metal Thickness \ 1.2mm Matercial \ Galvanized steel sheet Metal Thickness \ 0.7mm

Height \ 1800mm MDF \ 6.8mm Height \ 1800mm MDF \ 4mm or 5mm

Length \ 900mm Edge \ 20kg- 23kg Length \ 900mm Net weight \ 13.14 kg -15.12kg

width \ 450mm Finish \ Curled or straight width \ 400mm Edge \ Curled or straight

Clapboard Matercial | MDF Packing Galvanized or painting Clapboard Matercial MDF Finish Galvanized or painting

Layer \ 4 layer or 5 layer Net Weight \ 1 pcs /shrink Layer \ 4 layer or 5 layer Packing \ 1 pcs / shrink

Load Capacity \ 265KG per layer Load Capacity \ 170KG per layer

20 | 400-613-7555 jiandunjituan.com | 21



TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! R tlE

8% TOOL SHELF T32 PALLET RACK 810x610

I Dimensions(Unit: 9FBYR~F Dimensions(Unit:mm)

000000000000000000 ||
000000000000000000 ]
000000000000000000 ||
000000000000000000 |
000000000000000000 ||

[Too0o0000000000000000000000000000 |

[Too0oo000000000000000000000000000D00 |

[[00000000000000000000000000000200 ]

3 ®
N oo
o o
3 3
3 3
1 1 ] 1 1 1 ‘
750mm 300mm 810mm 610mm
F&ER (B4: mm) FaiER (2£4: mm)

Product Information(unit:mm) Product Information(unit:mm)

Model 132 Middle support \ without Model [ 810x610 Middle support \ 1 pcs or without

Matercial \ Galvanized steel sheet Metal Thickness \ 0.7mm Matercial \ Galvanized steel sheet Layer \ 4 layer or 5 layer

Height \ 1720mm MDF \ 4mm or 5mm Height \ 1880mm MDF \ 4mm or 5mm

Length \ 750mm Edge \ 10.80kg- 11.50kg Length \ 810mm Net weight \ 17.5 kg -20.2kg

Width \ 300mm Finish \ Curled or straight Width \ 610mm Edge \ straight

corner tube 1. 5mm,

Clapboard Matercial | MDF Packing \ Galvanized or painting Rack \ length / width support :3.0mm Finish \ Galvanized or painting
withTmiddle support 24x25/1. 8mm

Layer \ 4 layer or 5 layer Net Weight \ 1 pcs /shrink Clapboard Matercial | MDF Packing \ 1 sets per bundle

Load Capacity \ 75KG per layer Load Capacity \ 75 kgs per layer

22 | 400-613-7555 jilandunjituan.com | 23



Y
i

...__-t._..-_.__.i-.lif._*__.

 puissetiia B § -._#
womsny g
_-.!._.:-.-.-.- f
_..!._.-_._-.-_l. .__

M tlfbiE BERARE

.-l.i._..-r-.-
__.I_._..._.._:_:_-
g AR
i R
g STLLELRLEL o
_..._....__.__I..:_:.: - )

jiandunjituan.com | 25

24 | 400-613-7555



TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! B tlEE SEREKXK

FR A7 O
Heavy Series

ERTI e, SRR, IImEESZSiT

Sectional View Animation Installation Dimensions
S SRERTE
[—22.8—]
M16*325 8818 (] o L)
G8IMIR ' iy ' ERR: 115x100mm
BRI ) 7an IR A B eax71.3mm
N\~ 7T A @& ¢1Imm
1) § 1 =]
BRARE . ) ERER - S5 FEAR/EE: 5mm
ERNRE _ = 7
M16*11 R IR .
: BRI TR
BRERALRE (RE) T 62002755 [ Y ]
M12/B SR E JE e riéﬂiva 115x100mm
HRPUR v Lol =AFLEE: 92x76mm
¢ $14.9*$12.5*63.5EF . = s B/NFLEE: 76x66.5mm
& L & H1Imm
Fﬁé 7 JKREE: 5mm

76
92

Heavy Flat Bottom Movable Wheel

26 | 400-613-7555 jilandunjituan.com | 27



TECHNOLOGY CREATE WEIHAI, WISDOW WIN FUTURE !

01-1 EBTE
HER(EHIPP) 25

Heavy Series Wheel

PRODUCT $@()D

TYPE
R RS

PEEIN
AT

PR

RHRE

— . GG
T R K=Y

NE

kg

RIREE

]

=

ERAME  BE@E¥E

mm

mm

=

e

: HhE
/0 25 51
B 9%

i

Mt ERARR

7]

FERYT

mm

12t
)

/R

mm

100111 4~f 64 100 44 = 143 250 375 115*100 83 84*71.3 11 20 460*260*280 56 100*100
100112 5%F 64 125 44 - 165.5 300 450 115*100 98 84*71.3 11 16 460*260*280 56 100*100
100113 6~ 64 150 44 = 190 380 570 115*100 114 84*71.3 11 12 460*260*280 56 100*100
100114 8% 64 200 44 - 240.5 450 675 115*100 147 84*71.3 11 8 460*260*280 56 100*100
FIEiEH
100078 4~f 64 100 44 = 143 250 375 115*100 = 84*71.3 11 20 460*260*280 56 100*100
100079 5%F 64 125 44 - 165.5 300 450 115100 - 84*71.3 11 16 460*260*280 56 100*100
100080 6~ 64 150 44 = 190 380 570 115*100 = 84*71.3 11 12 460*260*280 56 100*100
100081 8 64 200 44 - 240.5 450 675 115100 - 84*71.3 11 8 460*260*280 56 100*100
FEEE
100212 4~ 64 100 44 = 143 250 375 115*100 83 84*71.3 11 15 460*260*280 56 100*100
100213 5%F 64 125 44 - 165.5 300 450 115*100 98 84*71.3 11 12 460*260*280 56 100*100
100214 6~F 64 150 44 = 190 380 570 115*100 114 84*71.3 11 8 460*260*280 56 100*100
100215 8 64 200 44 - 240.5 450 675 115*100 147 84*71.3 11 6 460*260*280 56 100*100
FIEBF
100171 4f 64 100 44 = 143 250 375 115*100 83 84*71.3 11 15 460*260*280 56 100*100
100172 5%F 64 125 44 - 165.5 300 450 115*100 98 84*71.3 11 12 460*260*280 56 100*100
100173 6~ 64 150 44 = 190 380 570 115*100 114 84*71.3 11 8 460*260*280 56 100*100
100174 8 64 200 44 - 240.5 450 675 115*100 147 84*71.3 11 6 460*260*280 56 100*100

IR

28 | 400-613-7555

jiandunjituan.com | 29



TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! B tlfEE HERKXK

BRI

01-2 E ’_.*.! @ §¥ MR B
Rl (MEEH)k R

Heavy Series Wheel

PR

ESEE N A

(D)3 BIHS mEL e )

o No. 0 = T & O

FrmRE 7= i 4tg XBER XEFARE BE RRIE RiRAME  EE@EE FHERT ik fERR

~F mm kg kg mm mm mm A mm

100115 4~f 64 100 50 = 143 220 330 115*100 83 84*71.3 11 20 460*260*280 56 100*100
100116 5%F 64 125 50 - 165.5 280 420 115*100 98 84*71.3 11 16 460*260%280 56 100*100
100117 6~ 64 150 50 = 190 350 525 115*100 114 84*71.3 11 12 460*260*280 56 100*100
100118 8 64 200 50 - 240.5 430 645 115*100 147 84*71.3 11 8 460*260%280 56 100*100
FIEED
100082 4~f 64 100 50 = 143 220 330 115*100 = 84*71.3 11 20 460*260*280 56 100*100
100083 5%F 64 125 50 - 165.5 280 420 115*100 - 84*71.3 11 16 460*260%280 56 100*100
100084 6~ 64 150 50 = 190 350 525 115*100 = 84*71.3 11 12 460*260*280 56 100*100
— 100085 8 64 200 50 - 240.5 430 645 115*100 - 84*71.3 11 8 460*260%280 56 100*100
100216 4~ 64 100 50 = 143 220 330 115*100 83 84*71.3 11 15 460%260*280 56 100*100
100217 5%F 64 125 50 - 165.5 280 420 115*100 98 84*71.3 11 12 460*260*280 56 100*100
100218 6 64 150 50 = 190 350 525 115*100 114 84*71.3 11 8 460%260*280 56 100*100
100219 8% 64 200 50 - 240.5 430 645 115*100 147 84*71.3 11 6 460*260*280 56 100*100
FeaH
100175 4~f 64 100 50 = 143 220 330 115*100 83 84*71.3 11 15 460*260*280 56 100*100
100176 5%F 64 125 50 - 165.5 280 420 115*100 98 84*71.3 11 12 460*260*280 56 100*100
100177 6~ 64 150 50 = 190 350 525 115*100 114 84*71.3 11 8 460*260*280 56 100*100
100178 8 64 200 50 - 240.5 430 645 115*100 147 84*71.3 11 6 460*260*280 56 100*100
FREIH

30 | 400-613-7555 jiandunjituan.com | 31



TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! B tlEE SERKXK

BRI

01-3 Eﬁ! EEI-IL‘-R WREH TR
=3 FTPR(QE /) iE R

Heavy Series Wheel

R

EEEEE | JRE

it 13i:: e BE BEE BT

oo Ne. 0 = o1 & O
—

FrmRE 7= in g XBER XEFARE BE RRIE RiRAE  EE@HERE FLEE FHERT it fERR

~F mm kg kg mm mm mm mm A mm

100119 4~ 64 100 50 - 143 170 255 115*100 83 84*71.3 11 20 460*260*280 56 100*100
100120 5~ 64 125 50 - 165.5 220 330 115*100 98 84*71.3 11 16 460*260*280 56 100*100
100121 6~ 64 150 50 - 190 280 420 115*100 114 84*71.3 11 12 460*260*280 56 100*100
- 100122 8~f 64 200 50 - 240.5 350 525 115*100 147 84*71.3 11 8 460*260*280 56 100*100
EEiE
100086 4~ 64 100 50 - 143 170 255 115*100 - 84*71.3 11 20 460*260*280 56 100*100
100087 55 64 125 50 - 165.5 220 330 115*100 - 84*71.3 11 16 460*260*280 56 100*100
100088 6~ 64 150 50 - 190 280 420 115*100 - 84*71.3 11 12 460*260*280 56 100*100
e 100089 8~f 64 200 50 - 240.5 350 525 115*100 - 84*71.3 11 8 460*260*280 56 100*100
TR
100220 4~ 64 100 50 = 143 170 255 115*100 83 84*71.3 11 15 460*260*280 56 100*100
100221 55 64 125 50 - 165.5 220 330 115*100 98 84*71.3 11 12 460*260*280 56 100*100
100222 6~ 64 150 50 = 190 280 420 115*100 114 84*71.3 11 8 460*260*280 56 100*100
100223 8~ 64 200 50 - 240.5 350 525 115*100 147 84*71.3 11 6 460*260*280 56 100*100
SRR
100183 4~ 64 100 50 - 143 170 255 115*100 83 84*71.3 11 15 460*260*280 56 100*100
100184 55 64 125 50 - 165.5 220 330 115*100 98 84*71.3 11 12 460*260*280 56 100*100
100185 6~ 64 150 50 - 190 280 420 115*100 114 84*71.3 11 8 460*260*280 56 100*100
100186 8~ 64 200 50 - 240.5 350 525 115*100 147 84*71.3 11 6 460*260*280 56 100*100
SEJEIUH

32 | 400-613-7555 jlandunjituan.com | 33



TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! B tlEE SERKXK

BRI

01-4 E ﬁ! %* I-Il_‘-:; T S
R RS

Heavy Series Wheel

FEER

ES=EX (B B

i WIS mER U p

o No. 0 = T & O

FrmRE 7= in g XBER XEFARE BE RRIE RiRAE  EE@HERE FHERT it fERR

~F mm kg kg mm mm mm A mm

100123 4~F 64 100 50 - 143 270 405 115*100 83 84*71.3 11 20 460*260*280 56 100*100
100124 5~ 64 125 50 - 165.5 320 480 115*100 98 84*71.3 11 16 460*260*280 56 100*100
100125 6~ 64 150 50 - 190 430 645 115*100 114 84*71.3 11 12 460*260*280 56 100*100
- 100126 8~f 64 200 50 - 240.5 480 720 115*100 147 84*71.3 11 8 460*260*280 56 100*100
EEiE
100074 4~ 64 100 50 - 143 270 405 115*100 - 84*71.3 11 20 460*260*280 56 100*100
100075 5~ 64 125 50 - 165.5 320 480 115*100 - 84*71.3 11 16 460*260*280 56 100*100
100076 6~ 64 150 50 - 190 430 645 115*100 - 84*71.3 11 12 460*260*280 56 100*100
e 100077 8~f 64 200 50 - 240.5 480 720 115*100 - 84*71.3 11 8 460*260*280 56 100*100
TR
100224 4~ 64 100 50 = 143 270 405 115*100 83 84*71.3 11 15 460*260*280 56 100*100
100225 55 64 125 50 - 165.5 320 480 115*100 98 84*71.3 11 12 460*260*280 56 100*100
100226 6~ 64 150 50 = 190 430 645 115*100 114 84*71.3 11 8 460*260*280 56 100*100
100227 8~ 64 200 50 - 240.5 480 720 115*100 147 84*71.3 11 6 460*260*280 56 100*100
SRR
100179 4~ 64 100 50 - 143 270 405 115*100 83 84*71.3 11 15 460*260*280 56 100*100
100180 55 64 125 50 - 165.5 320 480 115*100 98 84*71.3 11 12 460*260*280 56 100*100
100181 6~ 64 150 50 - 190 430 645 115*100 114 84*71.3 11 8 460*260*280 56 100*100
100182 8~ 64 200 50 - 240.5 480 720 115*100 147 84*71.3 11 6 460*260*280 56 100*100
SE TR

34 | 400-613-7555 jiandunjituan.com | 35



TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! B tlEE SEREKXK

hEI R

Medium Series
BEATHEF. B4R, NIWESE. EFFETW

Sectional View Animation Installation Dimensions
Frm e E TERTHE

1.55 (&%) 25 (&%) 525 3-55F 53
: 52 Zp 92 [
& i s/
0/ o5
G128 L FE] . ik ) )
P EE A% ER . © L O
Epﬂiﬁﬁﬁ-lzi&ﬁ fRAFLEE: 49.3x29.8mm f&RAFLEE: 54.4x36mm &RAFLIE: 76x45mm
g &/NFLEE: 46.3x29.8mm &/NFLEE: 51.4x36mm &/NFLEE: 70x45mm
7L 2. $6.8mm 7L 2: $6.8mm kiR 2: ¢8.5mm
¢6gwﬂz /0 &  #R: 66x48mm, E2mm & #: 70x55mm, [£2.5mm & #®: 92x64mm, E3mm
525
UELE2S I 2 (F&S) |, 22 3-5% cLs [
;} — e
th B3 AR A . i 7 LB N1
‘ hEEREA & J o i
$20* 12,5423 f _— . E - ﬁg 1 Uoesd
600715 7% n {V ﬁ\\\\wE 1
<& ; | = ;g
R RFIKHEEF / s % 544 -
° ° Gl O}Eij‘!’;‘! RAFLEE: 49.3x29.8mm RAFLEE: 54.4x36mm JAFLEE: 76x45mm
* == fx/NFLEE: 46.3x29.8 &/NFLEE: 51.4x36 /NFLEE: 70x45
M10 57/\$E§*% ° ; =% ¢6.8Xmm m ; =% ¢6.gmrrr1nm ; =t ¢8X.5mnr]nm
& #R%: 66x48mm, E2mm &  #%: 70x55mm, [E2.5mm B #R: 95x67mm, [E2.5mm
d12*P10* 41 EIBEE / = =
hEIPPH

th S RN
Medium Flat Bottom Movable Wheel

W H R

mla

D 12*M12*30411£ 1242 D12*M16*30$11E 1242 D12*M14*3041 11242

36 | 400-613-7555 jiandunjituan.com | 37



TECHNOLOGY CREATE WEIHAI, WISDOW WIN FUTURE !

02-1 & Tiz

HER(EHIPP) 25

Medium Series Wheel

PRODUCT
TYPE

FrmsE

Nao.

Framtg

BRI
WA TRHRE

FEER

= E

i

Yl

ZES

]

WIS

#NLE

mm

mER

&hE
/) 2 5
P r94%

C
EEH

a»

]

M tlfbiE BERARRK

o
12t
]

100398 41 75 32 100 150 108.5 33 55 460*260*280 56 100*100

100399 41 100 32 130 195 136 33 40 460*260*280 56 100*100

100400 41 125 32 140 210 160.5 33 30 460*260*280 56 100*100
FEIRE

100495 41 75 32 100 150 108.5 - 55 460*260*280 56 100*100

100496 41 100 32 130 195 136 - 40 460*260*280 56 100*100

100497 41 125 32 140 210 160.5 - 30 460%260*280 56 100*100
FEEE

100407 41 75 32 100 150 108.5 33 45 460*260*280 56 100*100

100408 41 100 32 130 195 136 33 32 460*260*280 56 100*100

100409 41 125 32 140 210 160.5 33 25 460%260*280 56 100*100
FERWA

38 | 400-613-7555

jiandunjituan.com | 39



TECHNOLOGY CREATE WEIHAI, WISDOW WIN FUTURE !

02-1 thBTIE
HER(EHIPP) 25

Medium Series Wheel

PRODUCT $@()D

TYPE
FrEmsE RS

Al

#K

mm

0

=

XERFORE

mm

BRI
WA TRRHRE

i B

mm

i

7]

MEtlfsiE ERARRK

100416 3 M12*25 41 75 32 100 150 105 33 55 460*260*280 56 100*100

100425 3 M12*30 41 75 32 100 150 105 33 55 460*260*280 56 100*100

100434 3 M14*30 41 75 32 100 150 105 33 55 460*260*280 56 100*100

100443 3 M16*30 41 75 32 100 150 105 33 55 460*260%280 56 100*100

100417 4 M12*25 41 100 32 130 195 132.5 33 40 460*260*280 56 100*100

100426 4 M12*30 41 100 32 130 195 132.5 33 40 460*260*280 56 100*100

100435 4 M14*30 41 100 32 130 195 132.5 33 40 460*260*280 56 100*100

) 100444 4 M16*30 41 100 32 130 195 132.5 33 40 460*260*280 56 100*100
st 100418 5 M12*25 41 125 32 140 210 157 33 30 460*260*280 56 100*100
100427 5 M12*30 41 125 32 140 210 157 33 30 460*260%280 56 100*100

100436 5 M14*30 41 125 32 140 210 157 33 30 460*260*280 56 100*100

100445 5 M16*30 41 125 32 140 210 157 33 30 460*260*280 56 100*100

100452 3 M12*25 41 75 32 100 150 105 33 45 460*260*280 56 100*100

100461 3 M12*30 41 75 32 100 150 105 33 45 460*260%280 56 100*100

100467 3 M14*30 41 75 32 100 150 105 33 45 460*260*280 56 100*100

100476 3 M16*30 41 75 32 100 150 105 33 45 460*260*280 56 100*100

100453 4 M12*25 41 100 32 130 195 132.5 33 32 460*260*280 56 100*100

100462 4 M12*30 41 100 32 130 195 132.5 33 32 460*260*280 56 100*100

100468 4 M14*30 41 100 32 130 195 132.5 33 32 460*260*280 56 100*100

100477 4 M16*30 41 100 32 130 195 132.5 33 32 460*260%280 56 100*100

A 100454 5 M12*25 41 125 32 140 210 157 33 25 460*260*280 56 100*100
100463 5 M12*30 41 125 32 140 210 157 33 25 460*260*280 56 100*100

100469 5 M14*30 41 125 32 140 210 157 33 25 460*260*280 56 100*100

100478 5 M16*30 41 125 32 140 210 157 33 25 460*260*280 56 100*100

40 | 400-613-7555

jlandunjituan.com | 41



TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! B tlEE SERKXK

BRI

02-1 |:|:| gg I*E TR TSRS
HER(IEHIPP)# R

Medium Series Wheel

FEER

EEE ERE

it WIS mEK p

PRODUCT No. (] ﬂ of of . 7] 3

FrmRE 7= in g £ 2K XERFORE i B R AH it

mm mm mm el

100516 3 M12*60 41 75 32 = 100 150 105 33 55 460*260*280 56 100*100

100517 4 M12*60 41 100 32 - 130 195 132.5 33 40 460*260*280 56 100*100

100518 5 M12*60 41 125 32 = 140 210 157 33 30 460*260*280 56 100*100
LA

100507 3 M12*60 41 75 32 = 100 150 105 33 45 460*260*280 56 100*100

100508 4 M12*60 41 100 32 - 130 195 132.5 33 32 460*260*280 56 100*100

100509 5 M12*60 41 125 32 = 140 210 157 33 25 460*260*280 56 100*100
LR

100534 3 M12*60 41 75 32 = 100 150 105 33 55 460*260*280 56 100*100

100535 4 M12*60 41 100 32 - 130 195 132.5 33 40 460*260*280 56 100*100

100536 5 M12*60 41 125 32 = 140 210 157 33 30 460*260*280 56 100*100
ERREE

100525 3 M12*60 41 75 32 = 100 150 105 33 45 460*260*280 56 100*100

100526 4 M12*60 41 100 32 - 130 195 132.5 33 32 460*260*280 56 100*100

100527 5 M12*60 41 125 32 = 140 210 157 33 25 460*260*280 56 100*100
R RRE XU

42 | 400-613-7555 jilandunjituan.com |43



TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! B tlEE SERKXK

SREEIM

02-2 EF' ’_.*.2 @ -5'¥ UL
R b (T ERT )RS

Medium Series Wheel

—_— > B

ap:ihe mEL BE

: HhE
Vi, ]|
e 4%

PR_I(_)Y[;’léCT N@D e % Eo

FrmRE £S5 i B

mm

100401 3 = 41 75 32 = 100 150 108.5 33 55 460*260*280 56 100*100

100402 4 - 41 100 32 - 130 195 136 33 40 460*260*280 56 100*100

100403 5 = 41 125 32 = 140 210 160.5 33 30 460*260*280 56 100*100
FIEiEH

100489 3 = 41 75 32 = 100 150 108.5 = 55 460*260*280 56 100*100

100490 4 - 41 100 32 - 130 195 136 - 40 460*260*280 56 100*100

100491 5 = 41 125 32 = 140 210 160.5 = 30 460*260*280 56 100*100
FREE

100410 3 = 41 75 32 = 100 150 108.5 33 45 460*260*280 56 100*100

100411 4 - 41 100 32 - 130 195 136 33 32 460*260*280 56 100*100

100412 5 = 41 125 32 = 140 210 160.5 33 25 460*260*280 56 100*100
FRERF

44 | 400-613-7555 jilandunjituan.com | 45



TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! B tlEE SERKXK

SEEIM

02-2 EF' ’_.*.2 @ -5'¥ UL
R B0 (T EED)E RS

Medium Series Wheel

PRODUCT N@X @ % E

FrmRE Jad £S5 = i B

kg mm

100419 3 M12*25 41 75 32 = 100 150 105 33 55 460*260*280 56 100*100

100428 3 M12*30 41 75 32 - 100 150 105 33 55 460*260*280 56 100*100

100437 3 M14*30 41 75 32 = 100 150 105 33 55 460*260*280 56 100*100

100446 3 M16*30 41 75 32 - 100 150 105 33 55 460*260*280 56 100*100

100420 4 M12*25 41 100 32 = 130 195 132.5 33 40 460*260*280 56 100*100

100429 4 M12*30 41 100 32 - 130 195 132.5 33 40 460*260%280 56 100*100

100438 4 M14*30 41 100 32 = 130 195 132.5 33 40 460%260*280 56 100*100

. 100447 4 M16*30 41 100 32 - 130 195 132.5 33 40 460*260*280 56 100*100
st 100421 5 M12*25 41 125 32 = 140 210 157 33 30 460*260*280 56 100*100
100430 5 M12*30 41 125 32 - 140 210 157 33 30 460*260*280 56 100*100

100439 5 M14*30 41 125 32 = 140 210 157 33 30 460*260*280 56 100*100

100448 5 M16*30 41 125 32 - 140 210 157 33 30 460*260%280 56 100*100

100455 3 M12*25 41 75 32 = 100 150 105 33 45 460*260*280 56 100*100

100486 3 M12*30 41 75 32 - 100 150 105 33 45 460*260*280 56 100*100

100470 3 M14*30 41 75 32 = 100 150 105 33 45 460*260*280 56 100*100

100479 3 M16*30 41 75 32 - 100 150 105 33 45 460*260%280 56 100*100

100456 4 M12*25 41 100 32 = 130 195 132.5 33 32 460*260*280 56 100*100

100487 4 M12*30 41 100 32 - 130 195 132.5 33 32 460*260*280 56 100*100

100471 4 M14*30 41 100 32 = 130 195 132.5 33 32 460*260*280 56 100*100

100480 4 M16*30 41 100 32 - 130 195 132.5 33 32 460*260*280 56 100*100

LEt 100457 5 M12*25 41 125 32 = 140 210 157 33 25 460*260*280 56 100*100
100488 5 M12*30 41 125 32 - 140 210 157 33 25 460*260*280 56 100*100

100472 5 M14*30 41 125 32 = 140 210 157 33 25 460*260*280 56 100*100

100481 5 M16*30 41 125 32 - 140 210 157 33 25 460*260*280 56 100*100

46 | 400-613-7555 jlandunjituan.com | 47



TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! B tlfEE SEREKXK

02-2 EF' ﬂ @ §¥ AR
Rt (MEER)E R

Medium Series Wheel

EEES EDE

PSS Bt BE e :

e Ne- I C ] e

FrmRE Framgtg £ =E i B 3 it

kg mm ]

100513 3 M12*60 41 75 32 = 100 150 105 33 55 460*260*280 56 100*100

100514 4 M12*60 41 100 32 - 130 195 132.5 33 40 460*260*280 56 100*100

100515 5 M12*60 41 125 32 = 140 210 157 33 30 460*260*280 56 100*100
KHEREDN

100504 3 M12*60 41 75 32 = 100 150 105 33 45 460*260*280 56 100*100

100505 4 M12*60 41 100 32 - 130 195 132.5 33 32 460*260%280 56 100*100

100506 5 M12*60 41 125 32 = 140 210 157 33 25 460*260*280 56 100*100
LR TRR

100531 3 M12*60 41 75 32 = 100 150 105 33 55 460*260*280 56 100*100

100532 4 M12*60 41 100 32 - 130 195 132.5 33 40 460*260*280 56 100*100

100533 5 M12*60 41 125 32 = 140 210 157 33 30 460*260*280 56 100*100
EAEEMN

100522 3 M12*60 41 75 32 = 100 150 105 33 45 460*260*280 56 100*100

100523 4 M12*60 41 100 32 - 130 195 132.5 33 32 460*260*280 56 100*100

100524 5 M12*60 41 125 32 = 140 210 157 33 25 460*260*280 56 100*100
RRKEIR

48 | 400-613-7555 jilandunjituan.com | 49



TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! B tlEE SERKXK

SREEIM

02'3 I:FI ﬂ?é;ﬂ; BHFTPRE
=5 FTPR(QHEC ) &5

Medium Series Wheel

SEEN (WD

2Dt mEL BE SO FHH

LR N@X QI ﬂ of % E 3

Frm¥E #1 XERORE L B FEH 2R

mm mm mm A ]

100404 3 = 41 75 32 = 100 150 108.5 33 55 460%260%280 56 100*100

100405 4 - 41 100 32 - 130 195 136 33 40 460*260%280 56 100*100

100406 5 = 41 125 32 = 140 210 160.5 33 30 460%260%280 56 100*100
FREED

100492 3 = 41 75 32 = 100 150 108.5 = 55 460*260%280 56 100*100

100493 4 - 41 100 32 - 130 195 136 - 40 460*260%280 56 100*100

100494 5 = 41 125 32 = 140 210 160.5 = 30 460*260%280 56 100*100
FREEE

100413 3 = 41 75 32 = 100 150 108.5 33 45 460*260%280 56 100*100

100414 4 - 41 100 32 - 130 195 136 33 32 460*260%280 56 100*100

100415 5 = 41 125 32 = 140 210 160.5 33 25 460*260%280 56 100*100

FRERF

50 | 400-613-7555 jiandunjituan.com | 51



TECHNOLOGY CREATE WEIHAI, WISDOW WIN FUTURE !

02-3 o B A 55

=9 FTPR(QME )L F 5

Medium Series Wheel

PRODUCT
TYPE

FrmRE 7= i 4tg

0

=

XERFORE

mm

EpEm
BRFTPRE

PR

&

]

i B

mm

mEk

i

[Sv L

7]

MEtlfsiE ERARRK

T

g

100422 3 M12*25 41 75 32 100 150 105 33 55 460*260*280 56 100*100
100431 3 M12*30 41 75 32 100 150 105 33 55 460*260*280 56 100*100
100440 3 M14*30 41 75 32 100 150 105 33 55 460*260*280 56 100*100
100449 3 M16*30 41 75 32 100 150 105 33 55 460*260*280 56 100*100
100423 4 M12*25 41 100 32 130 195 132.5 33 40 460*260*280 56 100*100
100432 4 M12*30 41 100 32 130 195 132.5 33 40 460*260*280 56 100*100
100441 4 M14*30 41 100 32 130 195 132.5 33 40 460*260*280 56 100*100
100450 4 M16*30 41 100 32 130 195 132.5 33 40 460*260*280 56 100*100
R iEN
100424 5 M12*25 41 125 32 140 210 157 33 30 460*260*280 56 100*100
100433 5 M12*30 41 125 32 140 210 157 33 30 460*260*280 56 100*100
100442 5 M14*30 41 125 32 140 210 157 33 30 460*260*280 56 100*100
100451 5 M16*30 41 125 32 140 210 157 33 30 460*260*280 56 100*100
100458 3 M12*25 41 75 32 100 150 105 33 45 460*260*280 56 100*100
100464 3 M12*30 41 75 32 100 150 105 33 45 460*260*280 56 100*100
100473 3 M14*30 41 75 32 100 150 105 33 45 460*260*280 56 100*100
100482 3 M16*30 41 75 32 100 150 105 33 45 460*260*280 56 100*100
100459 4 M12*25 41 100 32 130 195 132.5 33 32 460*260*280 56 100*100
100465 4 M12*30 41 100 32 130 195 132.5 33 32 460*260*280 56 100*100
100474 4 M14*30 41 100 32 130 195 132.5 33 32 460*260*280 56 100*100
100483 4 M16*30 41 100 32 130 195 132.5 33 32 460*260*280 56 100*100
IIF
100460 5 M12*25 41 125 32 140 210 157 33 25 460*260*280 56 100*100
100466 5 M12*30 41 125 32 140 210 157 33 25 460*260*280 56 100*100
100475 5 M14*30 41 125 32 140 210 157 33 25 460*260*280 56 100*100
100484 5 M16*30 41 125 32 140 210 157 33 25 460*260*280 56 100*100

52 | 400-613-7555

jiandunjituan.com | 53



TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! B tlfEE SEREKXK
I

02'3 EF' ’__*,!EE;E( BAFTPRE
=9 FTPR(QEELS )i R 51

Medium Series Wheel

PR

EEEEE WA

55D::pt mEk EHE BRFHR

PRODUCT No. (] ﬂ of of . 7] 3

FrmRE 7= i 4tg £ #K XERFORE i B R AH ik

mm mm mm el

100519 3 M12*60 41 75 32 = 100 150 105 33 16 460*260*280 56 100*100

100520 4 M12*60 41 100 32 - 130 195 132.5 33 12 460*260*280 56 100*100

100521 5 M12*60 41 125 32 = 140 210 157 33 12 460*260*280 56 100*100
KA

100510 3 M12*60 41 75 32 = 100 150 105 33 12 460*260*280 56 100*100

100511 4 M12*60 41 100 32 - 130 195 132.5 33 12 460*260*280 56 100*100

100512 5 M12*60 41 125 32 = 140 210 157 33 8 460*260*280 56 100*100
LR

100537 3 M12*60 41 75 32 = 100 150 105 33 16 460*260*280 56 100*100

100538 4 M12*60 41 100 32 - 130 195 132.5 33 12 460*260%280 56 100*100

100539t 5 M12*60 41 125 32 = 140 210 157 33 12 460*260*280 56 100*100
BAREES

100528 3 M12*60 41 75 32 = 100 150 105 33 12 460*260*280 56 100*100

100529 4 M12*60 41 100 32 - 130 195 132.5 33 12 460*260*280 56 100*100

100530 5 M12*60 41 125 32 = 140 210 157 33 8 460*260*280 56 100*100
R RRE XU

54 | 400-613-7555 jlandunjituan.com | 55



EONE=

TECHNOLOGY CREATE WEIHAI , WISDOW WIN FUTURE ! B tlEE SERKXK

Skt &Rl

Pneumatic Tire Series

Sectional View Animation Installation Dimensions

7 ) A E RERTHE
M16*25NRIEE R
BRI @ EIR ) JEARR~F: 115x100mm
d8IWEK GO BAFLEE: 92x76mm

BRARE (HHEL) /‘./ SHREDEZRE (BF)

BRNKE / $9.2*h6*12. 28 MR EHIET
M16*975 2R /

SEESEERE (FiR)

B/NFLEE: 76x66.5mm
FL 2. d11Tmm
EAREE: 5mm

66.5
76
100

ERRIFIHF

R HEER
©25*d15*0.5K A

M12 iR

M12*121 &M igie o

<
BT 115x100mm
2" BAFLEE: 92x76mm

B/INFLEE: 76x66.5mm
f 2: d11mm

@ EREE: 5mm

76
92

ERSRRAN

100
66.5
76

A EF

=SS

Pneumatic Tire Series

56 | 400-613-7555 jilandunjituan.com | 57



TECHNOLOGY CREATE WEIHAI, WISDOW WIN FUTURE !

03-1
=S Siake R

Pneumatic Tire Series

PRODUCT $@()D

TYPE

Frm¥EE 7= in g

0

=

XEFARE

mm

BRI

PRL:ES

=

L

e o__o
(]

NE

kg

WIRHE

]

mm

EiRAE  EE@EE

mm

=

=

5D::p}

[olr
—
Flig

mm

Mt ERARR

HhE
/0 25 51
EEE 9%

t 7]

FHERT

mm

it

]

FEERT

mm

100312 8 90 200 60 250 125 187.5 115*100 = 84*71.3 11 2 460*260*280 56 100*100

100308 10 104.5 250 82 308 150 225 115*100 - 84*71.3 11 2 460*260*280 56 100*100
FEEE

100311 8 90 200 60 250 125 187.5 115*100 150 84*71.3 11 2 460*260*280 56 100*100

100309 10 104.5 250 82 308 150 225 115*100 185 84*71.3 11 2 460*260*280 56 100*100
FIEiEH

100310 8 90 200 60 250 125 187.5 115*100 150 84*71.3 11 2 460*260*280 56 100*100
FEBF

58 | 400-613-7555

jiandunjituan.com | 59



TECHNOLOGY CREATE WEIHAI, WISDOW WIN FUTURE !

iR =% 2RI

Brake Series

Sectional View Animation
& E 40 &

ERE R ER

ERMNZRA RIREE

$23.7%4.5* 263 &

$16.5*H1.8*28H &

E R BRIENR

©20*}p12.2*2.5F#H

EI RIS BRIEN T

M8*52 /5 Faigie

BIRENTRE

MSEE

M8 BitR

®10*10Z= 10T

ER MR B[4S BNEE

SETUIAR =3 A AR

EXMRIBENEE

EMRIZRSIEM

gy 8

4~ =X HRIES
Medium Flat Bottom Movable Wheel

G6*34Z10\NET

60 | 400-613-7555

Installation Dimensions
TERTHE

115

92
76

g &
A
926

100
76
66.5
I

JEMRT
BRAFLEE:
&/ NFLEE
L 12
EREE :

Mt BERARRK

115X100mm
92X76mm
76X66.5mm
d11mm

5mm

jiandunjituan.com | 61



TECHNOLOGY CREATE WEIHAI, WISDOM WIN FUTURE ! R tlFEE SERmAXK

Business Negotiation
e | RS nk

iRl =% R 5

EXER MIHSFRPRNERSE, FEFBURMK. £X, RIEUREE, 778

: MARE, BIVBRLRESBUSENEEREF, £FITERTFIELEREME TIE,
Brake Series

PRODUCT
TYPE

[ ot S FmEB XERY BRSE EESE

ERHRIEE4" S 100267 4 150 122 - 300
ERXHRIZES" DK 100268 5 176 150 - 350
EXMRIE6" S 100269 6 200 173 - 400
EXHRIZR8" DK 100270 8 245 219 - 500

A 2020F 10BN E—EEHEHBREITES

PRODUCT
TYPE

FRXR Fmml  FEH FHERY RRY  REREMRY

ES5 A A 100267 12 460*260*280 56 100*100 76*76
ERHRBE5" DA 100268 10 460*260*280 56 100*100 76*76
EX R 26" S 100269 10 460*260*280 56 100*100 76*76 4 202152H208, B/REFARRGEERER A 2019%F, EHBAEARERMNERAE
£ 2t 288 B 100270 g 460%260%280 56 100100 26%76 KR K —TRIGASTSWERK, BEKBFE—TA, RANEFERRHEER,
A 2020598, ItFHITWEERKMNE LLE 4 2019%8H, FBRRSEWUARRBRE
WIEREF SRR KRB EEKIEBEEIN. R F IR EER M,

62 | 400-613-7555 jlandunjituan.com | 63



TECHNOLOGY CREATE WEIHAI, WISDOM WIN FUTURE !

itH% ol %8 SiEmikik

TECHNOLOGY CREATE THE FUTURE

A 2019, F=RAERELHEBLINE A EREFERERBITL,

4 2018%F, SREKRREFESERK, A 2018%F, LLRIESEFMERS HEETHERXK,
BEXMEIEITE, EESER, FIRBIX,

64 | 400-613-7555




